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OpenCVEE MR IEEI %R erode()/3ik, %I EARNERNT:

dst = cv2.erode(src, kernel, anchor, iterations, borderType, borderValue)
SHREA

src: [RInE&.

kernel: [BIRERRZ.

anchor: FIIESE, MAIHRME.

iterations: AIESE, BIREFIIERE, BOAMERT,

borderType: AIIES#], BWHRHEIN, BILEIA.

borderValue: AJIZZ%{, BWHE, ENEIA.

IREEWRE: dst: £FEHRZ EHNER.
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EOpenCVHE R EMESFRIER, BEEMAnumpyRREEIEZEA, Fla:
import numpy as np
k = np.ones((5, 5), np.uint8)

BiZnumpytERAJones ()T iABIE T — 151755 (@FR5x5) . HFXRBENLFHFSSNELN. =
— T HFHEHE 1A, XNHEFEerode()FENZSH. BRT5x5HEM, KA LIERA3 %3,
Ox9. MxMMFLEHN, THHEKX, THEHAMRMEAERE, T8N, TEHINRAEBH.
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import cv2

import numpy as np

img = cv2.imread("cactus.jpg") # ZTERE

k = np.ones((3, 3), np.uint8) # BIFE3*3WEBIE*%
cv2.imshow("img", img) # E~/RE

dst = cv2.erode(img, k) # [EiHRiR{E
cv2.imshow("dst", dst) # EREHME
cv2.waitkey() # R T EAEEIZER
cv2.destroyAllWindows() # BIEFB &K,



Bl: EEBARKNNIES ST RE IRAIRUER,

- i 1:: -
- ﬂ- B




Bl : BB AEKR/NYIESTAZETTRBE IRAVER.

import cv2

import numpy as np

img = cv2.imread("fs.png") # EEEVRE

cv2.imshow("img", img) # EREE

k1 = np.ones((11, 11), np.uint8) # I 11*119EBIE X%
dst1 = cv2.erode(img, k1) # E{HR{E

k2 = np.ones((15, 15), np.uint8) # BlI&EE15*1589%BE %
dst2 = cv2.erode(img, k2) # JE{HR{E

k3 = np.ones((45, 45), np.uint8) # BliE45*4589BIENZ
dst3 = cv2.erode(img, k3) # EIHIR{E

cv2.imshow("dst1", dst1) # ERE MR
cv2.imshow("dst2", dst2) # ERE MR
cv2.imshow("dst3", dst3) # B RIEIHMER

cv2.waitKey() # & MEAEEIZHEE
cv2.destroyAllWindows() # BERFFEEN.
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OpenCVFIZ AR/ FEI 2Rk dilate() /3%, 1ZITAHNERU T
dst = cv2.dilate(src, kernel, anchor, iterations, borderType, borderValue)
SELTEA:

src: [RInEIR,

kernel: F&ZRK{EARRYZ.

anchor: F[IRZ#, ZAVHERNMNE.

iterations: BIUESE, BIRE(FRIEREL, BOAMES1,
borderType: BIIESEL, HFREFEIL, BINENA.
borderValue: AIIEZEL, WFUE, EWNEOA.

IREHEEE: dst: SEFKZ EHEIR.
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import cv2

import numpy as np

img = cv2.imread("cactus.jpg") # EERE

k = np.ones((9, 9), np.uint8) # BIFEI*IMEBIEI*%
cv2.imshow("img", img) # E~/RE

dst = cv2.dilate(img, k) # RKIR(E
cv2.imshow("dst", dst) # BREEIKEE
cv2.waitkey() # R T EAEEIZER
cv2.destroyAllWindows() # BHFTE&AEMN
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import cv2

import numpy as np

img = cv2.imread("fs.png") # 1ZEVRE

cv2.imshow("img", img) # E/RIRE

k1 = np.ones((11, 11), np.uint8) # GIE11*119EABIENZ
dst1 = cv2.dilate(img, k1) # R/BKEIE

k2 = np.ones((15, 15), np.uint8) # BIE 1515 ABIENZ
dst2 = cv2.dilate(img, k2) # BBKIR{E

k3 = np.ones((45, 45), np.uint8) # GIiE45*45HEABIE %
dst3 = cv2.dilate(img, k3) # B/BKIR{E

cv2.imshow("dst1", dst1) # BREHMHER
cv2.imshow("dst2", dst2) # EREMMER
cv2.imshow("dst3", dst3) # BRE MR

cv2.waitKey() # R NMEAREZBIRER
cv2.destroyAllWindows() # BRI &E.
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import cv2

AREMA. RERELE

import numpy as np

img = cv2.imread("w1.png") # ZERE

k = np.ones((9, 9),np.uint8) # BIEE9*IRIEBIENZ%
cv2.imshow("img", img) # E/RIRE

dst = cv2.erode(img, k) # JEihE(E

dst = cv2.dilate(dst, k) # JRKIR(E
cv2.imshow("dst", dst) # ERFIZEER
cv2.waitKey() # R NMEAREZBIRER
cv2.destroyAllWindows() # BIFFEEK
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Bl: HEREHRIMBRE: R ARFIIE
import cv2

import numpy as np

img = cv2.imread("w1.png") # EEVRE]

k = np.ones((9, 9),np.uint8) # BIEE9*IRIEEBIES 1%
cv2.imshow("img", img) # E/R~IRE]

dst1 = cv2.blur(img, (9, 9)) # EERAAX/NA9*RYIEIRIZHI TIVEISIK
dst = cv2.erode(img, k) # [EiRR/E

dst2 = cv2.dilate(dst, k) # JRKIR(E

cv2.imshow("dst1", dst1) # BRI EEIREER

cv2.imshow("dst2", dst2) # B RFHEEER

cv2.waitKey() # & MEHIEEEERR

cv2.destroyAllWindows() # BEBFTEEMA
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import cv2

import numpy as np

img = cv2.imread("w2.png") # EZEVRE

k = np.ones((10, 10), np.uint8) # Bl 10*10H9%4BE %
cv2.imshow("img", img) # E/~RE]

dst = cv2.dilate(img, k) # B/ BKiE(E

dst = cv2.erode(dst, k) # [EiHR(E
cv2.imshow("dst", dst) # B/RAIEELER
cv2.waitKey() # & MEEEZIREG
cv2.destroyAllWindows() # BHETEEMA
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